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1 Mark questions

1. 3 10000 0 1000 8 100 0 10 7 1× + × + × + × + × is same as

(a) 30087 (b) 30807

(c) 3807 (d) 3087

2. 1 billion is equal to

(a) 100 millions (b) 10 millions

(c) 1000 lakhs (d) 10000 lakhs

3. Which of the following numbers in Roman Numerals is incorrect?

(a) 20-XX (b) 50-L (c) 100-M (d) 500-D

4. Which of the following is the greatest number?

(a) 38926 ones (b) 4905 tens

(c) 3450 hundreds (d) 210 thousands

5. Make the greatest four digit number using any four different digits, with

conditions as digit 5 is always at one’s place. (Note: - the digits should not

repeat.)

(a) 9876 (b) 9785

(c) 9995 (d) 9875

6. State ‘T’ for true and ‘F’ for false for the given statements.

I. Successor of a one digit number is always a one digit number.

II. Successor of a 3-digit number is always a 3-digit number

Codes

I II I II I II I II

(a) F F (b) T F (c) T T (d) F F

Numbers
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7. Write the numbers for the Eight million seven thousand five and insert

comas at proper places according to indian numeral system.

(a) 800,70,005 (b) 8070,005

(c) 800,70,005 (d) 80,07,005

8. Write the expanded form for Eighty-five lakh six hundred twelve.

(a) 8 1000000 5 100000 0 10000 0 1000 6 100 1 10 2× + × + × + × + × + × +
(b) 8 1000000 5 100000 0 10000 2 1000 6 100 0 10 2× + × + × + × + × + × +
(c) 8 1000000 5 100000 10 10000 0 1000 6 100 0 10 2× + × + × + × + × + × +
(d) 8 1000000 7 100000 0 10000 0 1000 6 100 0 10 2× + × + × + × + × + × +

9. What is the difference between largest four digit and smallest four digit

number?

(a) 2546 (b) 8990

(c) 8999 (d) 9898

10. Sunil is 20 yr old and his friend Rahul is 14 yr old. What is the difference

between their age in roman number?

(a) V (b) IV

(c) VI (d) IX

2 Marks Questions

11. Interchange the digits in hundreds and tens place in the number 54,150.

Can you tell if the value of new number will increase or decrease and by

how much?

(a) Increase by 360 (b) Decrease by 140

(c) Increase by 260 (d) Decrease by 80

12. Place value of 5 in a five digit number is 5000 and place value of 3 in that

number is 6 times greater than the place value of digit 5. Find the number

(a) 53000 (b) 35000

(c) 50003 (d) 30050
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13. Match the columns :

Column I Column II

A. Sixty four lakh eighty five thousand

four hundred twenty five

1. Seven

B. Nearest hundreds of the number

46589 is

2. 4605405

C. Face value of 7 in 8, 27, 438 3. 6485425

D. Fourty six lakh five thousand four

hundred five

4. 46600

A B C D A B C D

(a) 3 4 1 2 (b) 1 3 2 4

(c) 4 3 2 1 (d) 3 1 2 4

14. The population of a town was 9,75,689. In the first year it increased by 4563

and in the second year it decreased by 8976. What was the population of

the town at the end of second year?

(a) 965845 (b) 974568

(c) 971276 (d) 996587

15. The number of sheets of paper available for making notebooks is 75,000.

Each sheet makes 8 pages of a notebook. Each notebook contains 200

pages. How many notebooks can be made from the paper available?

(a) 2500 (b) 30000

(c) 3000 (d) 4505

Answers

1 (b) 2 (d) 3 (c) 4 (c) 5 (d) 6 (a) 7 (d) 8 (a) 9 (c) 10 (c)

11 (a) 12 (b) 13 (a) 14 (c) 15 (c)


